Hopefully this helps out because im confused myself. So this is what i got out of the textbook for this section pertaining to this problem.
The director of personnel for Electronics Associates, Inc. (EAI), has been assigned the task of developing a profile of the company’s 2500 managers. The characteristics to be identified include the mean annual salary for the managers and the proportion of managers having completed the company’s management training program.

    Using the 2500 managers as the population for this study, we can find the annual salary and the training program status for each individual be referring to the firm’s personnel records. The data file containing this information for all 2500 managers in the population is on the CD that accompanies the text.

     Using the EAI data set and the formulas presented in Chapter 3, we compute the population mean and the population standard deviation for the annual salary data.

       Population mean:                     µ = $51,800
   Population standard deviation      
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 = $4000

The data for the training program status show that 1500 of the 2500 managers completed the training program.  Letting 
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 denote the proportion of the population that completed the training program, we see that 
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=1500/2500 = .60  The population mean annual salary (µ = $51,800), the population standard deviation of annual salary (
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 = $4000), and the population proportion that completed the training program (p = .60) are parameters of the population of EAI managers.
    Now, suppose that the necessary information on all the EAI managers was not readily available in the company’s database. The question we now consider is how the firm’s director of personnel can obtain estimates of the population parameters by using a sample of managers rather than all 2500 managers in the population. Suppose that a sample of 30 managers will be used. Clearly, the time and the cost of developing a profile would be substantially less for 30 managers than for the entire population.  If the personnel director could be assured that a sample of 30 managers would provide adequate information about the population of 2500 managers, working with a sample would be preferable to working with the entire population. Let us explore the possibility of using a sample for the EAI study by first showing how to select a sample of 30 managers.
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